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Sa2AX AEE A =&

- EAREX DESEA L BIASHFAIR U] 2D DA
- SA2UBT FBXY HXITA
- XIZIAF A AFIRIZIAIE] AREY &X| A
- EAF AIBIRMIE] 9F HADA
- EABRR U FREY SXBA
- SADUBE AIMES SXH2, B(22) AT 2 HY|
- EARAZX ZH AR(EHD), BEMDH, 22, JIRS FH|, 445 B4 S)
O MEIHEXADL ST U AL2 FHIAR =X
- BRC A L EE A, BHDI, 42 "E S
- ATZEY HX L AEE 2K 22
O HAIHRZ S&AD 2T SX 22
O A SHUXLHE 2L 0RILTIE AILE SX 22
- BOHA DI2ILHIIE =8 AIZ2 FHIZA
- BIDHA CHEIHA =XE RAZA
- BIIHAF T HOIOFMAIL EAAIY
- EjA QRRUAY ZEE HMF
- SOiA DIRILITE SR XBZA
- BfA SIXISME LS OIHIZI0 A
O SIERE| B A2 FH| L HOAIY 5=
- AFCSEMEE 240, FHEA, W0 &3
- NECISEMLE [T ST BA
- SjA DIZILIHER 2 NALQEWIR ALS SK22
O FQ 2BX A7 ATALS =)
— A EE BT B2 HHITA
- YANISHE U EHID| Y 22 WE ALY
- UANISE 2ESEA B2TA
- E9D 0lE4l WOETZ EH|D| Al
- IAHD| AEIE EHD A S
O] 2§ OlAALY ZaHslE
) (EHE] &)
A S =t ‘232 At 400 A 0428 At
BRAL S5 D22 o3| | 1,655,678, 520 3,156, 180,970 3,013,732,660
DALY 175,327,450 431,861,000 415,286,000
BT JIPAILER] 2Y 1,165,944, 420 878,810,970 865,094,920
SANBBT| BA5 314,408,650 825,509,000 818,610,240
HS2F DA RH A (A
e ai of  1,000,000,000 804,741,410
MEIRELZA FHIAY 0 20,000,000 20,000,000
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CSHE > ARl

SR ALY MEEF XA
O g M4
O & FZ22)(80ha), BON ASH A2 XH(2.3%m), SHREHI(3.5m), LEREHH(600m) 2=
O B&4 BHI(122), =Ji+ BHI(262) 28
O Ot2% BHIAR DHA(SE0S% S) 28
O 28 GliAAIY Z4HEE
(B9 : &
At R '2BEN ‘240084 AP
SeHE X8 ST 855,168,740 1,449,295,000|  1,102,220,000
SeHy xa 14,733,300 16,200,000 12, 146,400
E52THIA 59,370,000 60,000,000 57,691,000
H54 S I8 Y MY 4,545,000 0 0
=4 FHIAY 18,283,000 40,000,000 39,492,000
022 BHIAY 15,807,800 20,000,000 19,569,600
20he FRTHIAR 729,501,740|  1,295,395,000 957,121,000
SsaSpERAAL S| 9,900,000 15,000,000 13,500,000
AlSUBALEX 2,937,900 2,700,000 2,700,000
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LSBT > MY

A A e AIS
L =8 FE-1
O ZHE =4 60ha, 2UR2AXE 3ha, AHXMoHZXZE 13ha 2=
O 2&4 13.3ha ATH(ZOHLIE 2ha, OMDIAl 1ha, BHEHLIS 5.5ha, @2 4ha, JIEl 0.8ha)
O] 2 Ol &MANY ZAsis
(Etg : 8)
A SIHRE ‘2334 ' 240 & 243 &b
A 2 BES| | 666,559,000 363,600,000 363,600,000
FHEE S 246,240,000 246,240,000 246,240,000
LRI AxE 118,724,000 34,350,000 34,350,000
AHE T oH R X & 191,505,000 83,010,000 83,010,000
OJMHXIH Z X 110,000,000 0 0




Loy = > AE=sAY

A AL =AY XA

O dadI3YEHAT LAY
O QIR A 18 2

[ R }

O IRVIHEE 8% 2g(128 JIE)
O =IHDIAL(E, DINSXIMZ =D S) 22

[0 2 GlIAALS ZAEE

Z8 34.6ha, =JH1J| 329.0ha,

S A4 0.26km, SE=FZINE Tkm

(£ : #)
MY ‘2324t 2401 & ‘242 bt

=IHOIMG K& 2 ta| 6, 105,414,610 6,077,141,000 6,041,740,440
BRI 3,367,436,000 3,736,376,000 3,736,376,000
DI RN 2 =02 271,200,000 234,686,000 234,686,000
SEAHISHAZEAEY 1,496,668,000 1,483,339,000 1,483,339,000
2SR (ME TR ANE) 46,663,750 25,410,000 25,013,420
SSAIMI(EIHDIIHEE) 205,754,380 212,330,000 211,698,940
d=2F Mot 627,692,480 385,000,000 350,627,080
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Sirofta= > A2l=2|n}
e al e BHE2IE S AIS
O = F&-
O B2 ESXH (AR AIES) FOSHH EX2 XY Ha FH(33HL)
O M2 MEIS SR02 MEHH A 32 L M2 OItd SN S0l I =& (2022~2025)
O S0 E8N0| A - 2422 e 223 S5(120ha)
O M8H = oIS HHE S8 Mololer SH3992)
O 28 Ol AAIY ZAEE
(g9l - &)
A 3HPE 232 A '2ACH & 242 A
BHEH2HE S ALY B | 1,700,015,010 4,162,270,790 2,522,939,230
BHEECH2E=0I X 108,629,000 103,086,000 102,695,030
STHHZ ZEacHs 250,000 262,000 262,000
ARIES A E A 9, 169,800 2,850,000 0
THOHILIBH= M H AL 204,745,000 285,000,000 231,898,000
Ar2IMEE 2 1,360,508,210 3,710,470,790 2,153,482, 200
ST A2 16,713,000 34,602,000 34,602,000
XIS 2T MAH 0 26,000,000 0




Seohit s ) A=A

A AL AT AIM
O Fe Fadn
O 2B E HEAH 1.87km
O &=dFUE LA 0.83km
O HUAT IHLAY 0.5%km
O SR XE+AY 10km
O dcac|d 38 =24
O AAIEHBEOIZE 38 2
O AHZAIS
- AFEHE 2004, HIREA 4004, AXIANE 1DHA, MSISHAZASIAY 1OHA, REEX] 10HA
O 2t CllAMALY ZorsiE
(Erel - )
A g+ E '‘23E 4t 2401 &4 242 4t
AZAIL B3| Al 2,048,507,300 2,364,771,800 2,303, 152,050
UCHEX & RS 165,233,810 315,231,000 309,561,870
S22 JHEFE| 247,487,610 330,993,800 325,303,370
ATAIE(XH2) 1,051,005,680 946,068,000 917,613,800
YT AIE(HE) (HEAY) 281,689, 120 328,354,000 315,467,480
APAIEN S Z0f 2 E 71,687,080 66, 140,000 62,370,230
AHZEAHA 148,089,000 202,085,000 202,085,000
AALE At 2t 37,815,000 130,400,000 125,250,300
ATHINF OIS S S LM 2 A 45,500,000 45,500,000 45,500,000
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YoiEEs > LE=A

2| AL SMOIEX&

O =8 =41

O SgHdidE 2 =It83 94,930%

O FHEig "gsigadd 20 22
O] &S OIAAIY ZAMSE

(B2 @ &)
A SHAAE '23E &k ' 240 & 242 Al

STHOI 22X US| Al 238,400,000 237,280,000 233,633,700

SQF M XA 230,000,000 230,000,000 230,000,000

SR LUHBZ(ZHUR) 8,400,000 7.280,000 3,633,700
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o= > ME=AN

ALY MSAEX
0 F2 AL
O itz AFEst: 46014, 173,8188 &
O a2 MAD|EE 21004, 36,873&3 &
O it FSIIEH 939,9718 &
- JIBEHl L MSATAIA: 21002, FEXE: 14
O RSHAASTHH: 62044, 37,730 &
O &g
- AOH: 324, 251,931& %
- 32 114, 406,6068 &
O &2 23 BIHA, 29,6506
O 2 Ol&FAIY BAEE
(Bt - &)
A ‘23& & 240f| &t ‘248 &t
UMBASEXEH 2,815,751,790 4,119,705,000 3,394,910,570
UL S LSRR 192,276,910 190,456,000 173,818,930
AP MANDEE &40 0 760,000 760,000
LS MAD|EIEY 81,520,000 71,278,000 36,873,780
MERSIlERd 1,008,171,300 1,184,524,000 639,971,250
EISHZ U ASTHBH 2t 42,282,800 62,269,000 37,730,000
AR A S MAEH 122,951,000 842,041,000 658,537,610
W= RSN 0 220,807,000 0
sEdgol(dzYHel) &
NEE) 5,846,000 5,847,000 5,846,000
ARZGXN SR (M EE)
= 7,061,000 7,061,000 7,061,000
UAMATANTNES 1,212,207,780 1,504,662, 000 1,504, 662,000
SHLE EHES A 53,435,000 30,000,000 29,650,000
N2 AP KJAY 0 0 0
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Seolitd= ) A=A

- 844 -

2

ANE RSXIE

MBZLRH = 181,904

- HI178l X2laArabd 22b =T Al (2ete] L @Ietel THHEAL

- SHEEXt4=: 8270
O UZ24FH =&: 15,0008

- H7al XeldMEDN2 A k==K Al
O ggolus = 23

- KElah AER2 MAD|snS(R2Z44 2 =Tt ASHE € =t)
- AEZ YYQ ASYJWF
[1 & Oll&HALY Z A E
(L))
A AANRE '23E N '2401| & ‘2424t
Ne REXR SR 375,602,240 660, 165,000 443,000,920
MEASK|S 209,202,740 259, 160,000 219,506,920
LNEHESIALS 29,930,000 39,000,000 26,500,000
X2lat AR 121,469,500 347,005,000 181,994,000
KI2IAHAE D2 Aot 15,000,000 15,000,000 15,000,000
SE ALIE =X ZAIKKIE 0 0 0




SoRiE= >

L-O™

A2l 2|1}

TR AHE

=NUHERKTIAS

O =2 FI&
O NLRXISHH SAIZTAAR 14, 140uere)
O MHIZB 31312] SIS J124 ATHAIY 114, 458Dk
O LI2Ssi XA 404, 458hoke]
O MBS MEBUXS AEY TAAY 1JH4, 50080
O HIOIS DISAE =g SAXHAIY 1HA, 2790k
O MHIZB B2 XAAY 1A, 20%or
O SiE2i 222 M2} WS TAAL 1A, 2080l
O MHIZIE HIZ2Y BHIAY 1IA, 200l
(] & Of|AAIY ZAMSE
(e - &)
Argigy 3 1324 2404 A a2 p
=XHEYITE Qe 469,958,020 815,000,000 804,898,290
=X ZAEAA 184,720,290 0 0
SRXICH CAlS R4 (Ae
Q;’”"‘J“ SN ZS(EA 195,531,700 200,000,000 194,811,090
Loos xe(As) (S 49,984,900 50,000,000 45.543.000
MEQIRS & KAAIR 0 500,000,000 499,993,200
AOIEJIE HIIAIY 39,721,130 0 0
MHIZFE B2 EAAR (ZOIE0]
1 0 25,000,000 24,551,000
IR 2FE {2421 MoE2 X
Pt Mch =S 0 20,000,000 20,000,000
MO0 B2 R ZAA 0 20,000,000 20,000,000
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LSRG ) MEI=A|N
S AL AR ARESIZUEY
O =2 =&
O MEZ @42 2HOIA A 1A, 4080r2
O MER =X U FRT2 BHDIAY, 7120
O =Xl JAHD2A At 7%, 16084012
O 2 354 JI24EH ZHIIA 14, 8lepre
O S2MEk% =XBA LAY 14! 14424012
O 201 QYLD 24 ATHARY 14, 7784012
O NET H 102654 FLULIR Ip24 ATHARY 141, 31epHe
O 2HE! Sel HSLIR ATIARY 14 3124012l
O XEOIE SH2 YAst AR {4, 1378012
O ¢3Z Fo S5 N2IB HEAMY 14, 7340
O S2WEHE ORI0 HMSAIL BHIAK 141, 3438t
O &8 3Rl & =XB2 SN, +SAN L A ZLANE, sergl
O NEXIRXTA AS2Y 14 63BHR
[0 23 OlAANY ZAEE
(Ete] @ )
AR sHTE ‘2324 240} &t ‘2421 0t
NRBARETATY ST 3,310,892,770|  4,536,064,000)  3,398,826,630
g=at MY X4 1,310,978,180|  1,391,764,000] 1,359,193, 110
IIEAFELAY 1,494,557,4%0|  1,363,051,000]  1,291,385,680
MEjE 22 137,916,720 563,060,000 549,538, 460
SOHA KSR K4 (FEAL) 182,617,670]  1,000,000,000 0
Mgl & KX 127,249,770 154,189,000 135,224,380
MRIZISKIEA iSRS 57,573,000 64,000,000 63,485,000
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dusE |2 8, #=s A4F 28
[AB2A] |S3RAMD

I
[0
0%
£l

l.

SESEA MM ¢ 5IHA/4002H0HA

>
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HEERH DS X2 2,160,000 2,400,000 2,400,000

=T J| =2 I P OF
SEHENEN o DIE0IE! — . .
S ASEUIARIKIR 1,083,160,810|  2,140,000,000]  2,102,602,680

=NSHE| Y HSUSAE X
= - 773,975,610 760,000,000 726,611,880
=0/io14E XIg 3,621,910,68|  3,682,615,000]  3,675,838,850
S EEEEE 9,342,000 158,000,000 110,484,560
sEn0IXF A 117,500,000 137,500,000 137,500,000
soleXl 0243 TR 0 1,010,000 1,010,000
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2 AL tEdsgsy

o

Ne

Sgel

ASEH

K& 379,050& &

O 3= RSELSRNAAMY: 1250t
- SiHidl, 28 X& S: 60,4518 &
O JIR4 MAHX ZLA
- ws HLE: 52,0008
O HEs A&
- Jl2g SAMEH: 13,585,974
- ESSUEASEHR=S: 11,3283
- =EIASTHU R ALY : 819,537& &

[0 2 Ol&tAIY ZAEE

H

M (SO0 XIZA: 34,000kg, 105,0008&
St REEHIXIA: 580ha, 274,050& &

o

(=)
N e 12324 Ak 2400 &t PYE

B S HU=AIIASRH 23] 19.570.352,830|  19,210,849,000|  18,400,883,685
A=A MMl 205,181,030 355,040,000 249,770,520
RS2 = XA 365,095,500 379,050,000 342,767,500
ANBASNBOSE LG XD 149,282,670 160,000,000 159,430,810
ANBP=Y LEHHG DALY 31,239, 190 60,451,000 58,698, 440
DEIW MATH 851,973, 260 870,950,000 824,607,355
DEINMMCTI TN 0 0 0
MFOlE ASOINE KA 178,852,590 180,000,000 177,740,000
JISAH TS K2 0 0 0
2 Afg_rggﬂi;%& AB(XITH & 76,969,250 80,000,000 77,586,000
H HoE sxe K 389,891,270 285,500,000 239,626,030
y Soke BSuT s 0uR e " :
OO MAIRRIX 2 46,217,480 0 0
ST &E0] 2N 76,254,260 123,300,000 121,576,740
MTMA (12E 2 DX A 0 0 0
HTHHH S I o X2 1,824,337,770 1,389, 961,000 1,367, 604,340
Do NEHYEAL| 73,222,610 71,600,000 71,199,460
JI=8 ZoIEFTS AL 13,306,724.200|  13,990,000,000|  13,585,974,610
= BIEE K 60,000,000 928,806,000 838,507,390
SEIRE THHHKIRARS (KHRIAN) 88,878,740 0 0
UM AR 875,000 0 0
ABRSHIE X 2R 0 0 0
EZ=NEASSANED 10,615,000 15,000,000 11,332,500
ol PRI 149,580,000 124,226,000 123,234,000




Hig I3 X3A

2N MACT] REA

371,710,100

144,765,000

107,987,990

515,250,000

52,200,000

52,200,000
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O =2 =84

O 20249 =LA (ZE)IIZ X XI&: 85I, 3, 186HEtR

O 28 OIAAY ZaEE

(o9 : )
At 5| 32k '240] &k 042 Ak
i et =outE) |2
ol ASTIRIAIR g";%%‘i 4.786,000,000 4.000.000,000 3,982,270,000
ol ASSTIALY 4.786.000,000 4.000.000,000 3,982, 270,000
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D

OHEER KIE A
SLNEAI: 49,4302
- SSAIEL: 42,338%
0O |18z K&
- RIEHIE ¥ B= RIIEHIZ: 4,73350t, 1,293,169%
O 22l MaXE A
- JHEHSA 14.5ha S & SAHM 2&H| X&
O JEZ=g 32X E5AY: 13,2008
- A= FEX 22 110H(1,3208/¢)
O SI=LARM KA
- 1356=Jt, 206,766& &
O B Meisot ZEENs XA
- 4,558=01 1,344,610&8&
O d5XEXE: 1,050,715&8 &

O 21 OlAALY 2SS

(ctef : D)
AL A= ‘2824 ‘2401 & ‘24 &

MEEsHELUSHUASEH B3| 3,095,215,600 3,705,970,000 3,443,755,590
A FEAME A=g & 10,224,000 10,250,000 10,250,000
=2E(=0122) MM 0 0 0
HEESsHEZ K ES A 13,200,000 13,200,000 13,200,000
FI SR KIE A 127,001,040 234,637,000 230,949,710
MENsHHA XIRA 116,383,570 0 0
EDI%%* S0t IFESRSKEA 75,000,000 59,500,000 59,500,000
ZIgZMEsY SEALEH 29 0 0 0
dEtdsHE=E 181,961,240 260,000,000 180,399,290
dd AU XEM At 0 0 0
e sHE 3= |41 22,955,640 28,600,000 23,872,370
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ENEH K& 179,597,810 555,883,000 452,983,580
#I1&dls XI& 231,000,000 231,000,000 231,000,000
FIEHE NS (HSAIY) 2,132,292,300 2,304,500,000 2,237,528,100
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APEMO'EI Hlxtll INEE
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1o o

B 1 240%, 53,760&& K&

£ 8 I 22 HIE XA : 394,3408 &
9%61,350& & K&
93,820kg 197, 160& &

304 180,000& & XI&

‘2324t

EIEF=L DIBIES 2,184,402,880 2,967,890,000 2,318,536,070
AENZE FAE MY 26,221,000 142,910,000 131,601,250
LS AHA NS AL 304,040,440 325,000,000 296,962,030
FII=A MAAEEA 184,800,000 220,000,000 155,200,000
SAFTHOH A LR 230,823,930 310,000,000 216,482,240
SAAIE EF) 6,763,640
SO 51,408,000
SOt E S 89,519,400
4 LB #A 10,000,000
XAtz Mok X 1,015,844,640 1,201,507,000 1,165,831,340
ZANE 23 AIE 260,000,000 180,000,000 180,000,000
EY A2 X3A 0
S20H ZEBIAXSAE 4,000,000
dE ASE XA 2K 0
LHE[XIZH| X3S 981,830




g
e
ok

WLEI

275,278,760

‘2401| &

283,896,000
54,888,000
200,000,000

‘2324t

228,510,710

g HF2

S AL

O 2+&d OlAALE 2488 S
A

)
5

ok

1,300,000

46,270,760

200,000,000

27,708,000

1,300,000

27,708,000

45,102,030
149,999,680

33,409,000
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CHI AR Kol s 0l 2 5t
0O =2 &4
O JIHRER HHIAE : 630.6ha
0 JIEEL EHIAE @ 33ha
O =2 el JIHEE K& 2904
O H4sI =228 X3 0 204s04 5,545
O SétsoF X XA - 123501 61,201kg
0 S=2EHIRSHH gdsit =228 XA : 85It 510
0O S=2EHISSHH ZATY K& : ZEIH 470,00000, THAE 7,00004
O S2EHISSHH AHEHM(DIMEH) 2 KR+ 2,400L
O Z=2&EH=SH4H +=2X2EM XI& @ 630

O ==& XN=SHH
O S2EXRSHH

47,200kg

dHldE 24 Y 2P=5 SLIHE A @ 1,000

SHE Jts MIIZ 1,392,000kwh, &4t 130,030kg, Jta4Ch

SAHNMY €HE 2E X

[] 2t Ol &AFANY 2AEE

(ctel @ &)
A AR '23E & 240§ A 242 &t

A= =sHEH G} S| H| 1,250,117,360 1,255,545,000 1,200,8%4,680
SMES ARG 4,158,000 20,200,000 17,100,000
NE2L MH|AIEH| A& 177,100,000 189,200,000 189,200,000
JIEER Eg|atEY] K& 15,000,000 9,900,000 9,900,000
EER EldHIsH A& 0 0 0
FobsoF LFHER LA 146,597,500 156,330,000 151,416,000
st 8N AJA 561,857,500 589,875,000 544,602,320
I=E2NelAE2HRIE 256,768,000 260,040,000 260,040,000
NE2E M XA (S XHA) 88,636,360 30,000,000 28,636,360




- 243018 2e] X (AHESRH) « 52,8083 X
- QHEIE|RIE [ets)E @ FEE X - A

- SAME EHHYA AMAENS X 2 2004

- HACCP H&E XI& @ 2004

O =g Hs=s20| A - 250t
O sSEsdH 29 @ Dia

O #JIsE 22 & - 1185

O Ot S43 X& - 885
O
el

Z2H0| Sd3 X @ 2005%

2 OlATANY Z A E

(B9 : 8)
Al s '3 A 240} &t PYEDY,

IEEY U A2 oIBt3| A 871,711,490 953,826,000 9p4, 403,470
IEEY I RHEL 103,336,900 107,360,000 98,665,570
Lo 4ot 68,640,000 79,200,000 79,200,000
ST 88,991, 100 296,860,000 216,346,970
TSOIESUR YT 30,468,200 34,945,000 30,909,990
Ha e R (41201 01 43,200,000 52,801,000 52,800,000
= A EHACPR B 2,800,000 1,680,000 1,680,000
bEwelg =220 g1 N9 3,000,000 3,000,000 3,000,000
Bz} ool KA 360,444,540 360, 480,000 354,300,940
2020| S5t 420 XA 15,000,000 50,000,000 50,000,000
SSESHE SN 9,000,000 9,000,000 9,000,000
iiﬁ%ﬁ%%%a#% hed K& 10,500,000 10,500,000 0,500,000
HASS Blojss m2t| X9 240,750 0 0
HIES S2HIE X A 90,000 0 0
DFEOl S&SHERIR0) XS A 36,000,000 18,000,000 18,000,000
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148, 180& &
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- ZESIL Y OIZANY: 64,0008 2
0 23 ClAtALY Z4arsi st
(o« 2)
A A= ‘232 ot 24011 &t ‘242 4t
Ao US| H| 281,210,510 310,860,000 279,945,860
FotsI 284 HIIE MelAr 4,490,000 14,930,000 14,930,000
AS%E RAUH K& 28,000,000 28,000,000 28,000,000
A=AIM AR X 9,090,920 12,500,000 10,454,510
2HY NUES 2SAIS 18,000,000 30,000,000 2,133,000
SOLXEAE ASRE TR 17,496,700 12,250,000 12,248,350
=Y HgsE X3 122,680,000 148, 180,000 148, 180,000
=SSO AEE KA 63,984,490 64,000,000 64,000,000
g4 &M 28l A& 0 0 0
%*;jﬂ%%% 213 *=0<EiHIE 17,468,400 1,000,000 0
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Al, 7RIS, ASF S MEHE Ji=dEY 8 )X
- GiXl AZH E& XA : 5=, 50,0008 (2 2R60%)
- Ji2s0F 2gae] X# 0 1=, 10,0008 &3 (2 260%)

[0 23 OlaAY 248 E

(&9 : &)
ST s P ‘2400t PYET,
JlEol A 2ets| 2,168,099,080|  1,717,426.000] 1,460, 186,080
JimgeiotzE g 439,236,030 305,734,000 305,734,000
A D2l e e 2EY) 60,903,000 105,000,000 55,645,000
O350t Zgwe XE 6,000,000 6,000,000 6,000,000
X A4 Het NEAE 30,000,000 30,000,000 30,000,000
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O A SERXKE
- AsAE Mg D8 1Y
- SAUSERI AR : ASAE U 43
- M=FAE QAN 142,378
0 As7A=0 Z=K|
- AAER0l WEFRAY: 8N 1557F, BE 74,6858
- FmAEO FEa2lHl NF: 104 2150) , X 95,8008
- =0l OJAHI XIR: 5, 10082
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- mESs 5K ACE N™: 9, 60H
0 =80l SAX
- mgiol sme! HMo|F| X 70,2278
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SERBFHSLND (SE0I A
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